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NEW QUESTION 1

- (Topic 1)

You need to populate the MAR1 data in the bronze layer.

Which two types of activities should you include in the pipeline? Each correct answer presents part of the solution.
NOTE: Each correct selection is worth one point.

A. ForEach

B. Copy data

C. WebHook

D. Stored procedure

Answer: AB

Explanation:

MARL1 has seven entities, each accessible via a different APl endpoint. A ForEach activity is required to iterate over these endpoints to fetch data from each one. It
enables dynamic execution of API calls for each entity.

The Copy data activity is the primary mechanism to extract data from REST APIs and load it into the bronze layer in Delta format. It supports native connectors for
REST APIs and Delta, minimizing development effort.

You need to schedule the population of the medallion layers to meet the technical requirements.

What should you do?

* A. Schedule a data pipeline that calls other data pipelines.

* B. Schedule a notebook.

* C. Schedule an Apache Spark job.

* D. Schedule multiple data pipelines.

* Answer: A

The technical requirements specify that:

Medallion layers must be fully populated sequentially (bronze silver gold). Each layer must be populated before the next.

If any step fails, the process must notify the data engineers. Data imports should run simultaneously when possible.

Why Use a Data Pipeline That Calls Other Data Pipelines?

A data pipeline provides a modular and reusable approach to orchestrating the sequential population of medallion layers.

By calling other pipelines, each pipeline can focus on populating a specific layer (bronze, silver, or gold), simplifying development and maintenance.
A parent pipeline can handle:

- Sequential execution of child pipelines.

- Error handling to send email notifications upon failures.

- Parallel execution of tasks where possible (e.g., simultaneous imports into the bronze layer).

NEW QUESTION 2

- (Topic 2)

You need to implement the solution for the book reviews.
Which should you do?

A. Create a Dataflow Gen2 dataflow.
B. Create a shortcut.

C. Enable external data sharing.

D. Create a data pipeline.

Answer: B

Explanation:

The requirement specifies that Litware plans to make the book reviews available in the lakehouse without making a copy of the data. In this case, creating a
shortcut in Fabric is the most appropriate solution. A shortcut is a reference to the external data, and it allows Litware to access the book reviews stored in Amazon
S3 without duplicating the data into the lakehouse.

NEW QUESTION 3

- (Topic 3)

You have a Fabric workspace that contains a warehouse named Warehousel.

While monitoring Warehousel, you discover that query performance has degraded during the last 60 minutes.

You need to isolate all the queries that were run during the last 60 minutes. The results must include the username of the users that submitted the queries and the
guery statements. What should you use?

A. the Microsoft Fabric Capacity Metrics app

B. views from the queryinsights schema

C. Query activity

D. the sys.dm_exec_requests dynamic management view

Answer: B

NEW QUESTION 4

- (Topic 3)

You have a Fabric warehouse named DW1 that loads data by using a data pipeline named Pipelinel. Pipelinel uses a Copy data activity with a dynamic SQL
source. Pipelinel is scheduled to run every 15 minutes.

You discover that Pipelinel keeps failing.

You need to identify which SQL query was executed when the pipeline failed. What should you do?

A. From Monitoring hub, select the latest failed run of Pipelinel, and then view the output JSON.

B. From Monitoring hub, select the latest failed run of Pipelinel, and then view the input JSON.

C. From Real-time hub, select Fabric events, and then review the details of Microsoft.Fabric.ltemReadFailed.
D. From Real-time hub, select Fabric events, and then review the details of Microsof
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E. Fabric.ltemUpdateFailed.

Answer: B

Explanation:
The input JSON contains the configuration details and parameters passed to the Copy data activity during execution, including the dynamically generated SQL

query.
Viewing the input JSON for the failed pipeline run provides direct insight into what query was executed at the time of failure.

NEW QUESTION 5
- (Topic 3)
You have a Fabric workspace that contains a lakehouse named Lakehousel. Data is ingested into Lakehousel as one flat table. The table contains the following

columns.
Name Description
TransactionlD Contains a unique ID for each transaction
Date Contains the date of a transaction
ProductID Contains a unique ID for each product
Contains a descriptive attribute that describes the color
ProductColor
of each product
ProductName Contains a unique name for each product
SalesAmount Contains the sales amount of a transaction

You plan to load the data into a dimensional model and implement a star schema. From the original flat table, you create two tables named FactSales and
DimProduct. You will track changes in DimProduct.

You need to prepare the data.

Which three columns should you include in the DimProduct table? Each correct answer presents part of the solution.

NOTE: Each correct selection is worth one point.

A. Date

B. ProductName
C. ProductColor
D. TransactionID
E. SalesAmount
F. ProductIiD

Answer: BCF

Explanation:

In a star schema, the DimProduct table serves as a dimension table that contains descriptive attributes about products. It will provide context for the FactSales
table, which contains transactional data. The following columns should be included in the DimProduct table:

? ProductName: The ProductName is an important descriptive attribute of the product, which is needed for analysis and reporting in a dimensional model.

? ProductColor: ProductColor is another descriptive attribute of the product. In a star schema, it makes sense to include attributes like color in the dimension table
to help categorize products in the analysis.

? ProductID: ProductID is the primary key for the DimProduct table, which will be used to join the FactSales table to the product dimension. It's essential for
uniquely identifying each product in the model.

NEW QUESTION 6

HOTSPOT - (Topic 3)

You have three users named Userl, User2, and User3.

You have the Fabric workspaces shown in the following table.

Workspace
Workspace?2

You have a security group hamed Groupl that contains Userl and User3. The Fabric admin creates the domains shown in the following table.
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Name Domain admin
D InT

User1
Domain2

Userl creates a new workspace named Workspace3. You add Groupl to the default domain of Domainl.
For each of the following statements, select Yes if the statement is true. Otherwise, select No.
NOTE: Each correct selection is worth one point.

Answer Area

Statements No
User3 has Viewer role access to Workspace3. O
User3 has Domain contributor access to Domain1. O O
User2 has Contributor role access to Workspace3, O &)
A. Mastered

B. Not Mastered

Answer: A

Explanation:

Answer Area

Statements Yes No
User3 has Viewer role access to Workspace3. .Iﬂ. O
User3 has Domain contributor access to Domain1. O 1O
User2 has Contributor role access to Workspace3. O Of

NEW QUESTION 7

- (Topic 3)

You have a Fabric workspace that contains a warehouse named Warehousel. Data is loaded daily into Warehousel by using data pipelines and stored
procedures.

You discover that the daily data load takes longer than expected.

You need to monitor Warehousel to identify the names of users that are actively running queries.

Which view should you use?

A. sys.dm_exec_connections

B. sys.dm_exec_requests

C. queryinsights.long_running_queries
D. queryinsights.frequently_run_queries
E. sys.dm_exec_sessions

Answer: E

Explanation:
sys.dm_exec_sessions provides real-time information about all active sessions, including the user, session ID, and status of the session. You can filter on session
status to see users actively running queries.

NEW QUESTION 8

- (Topic 3)

You have a Fabric workspace that contains a lakehouse named Lakehousel.

In an external data source, you have data files that are 500 GB each. A new file is added every day.

You need to ingest the data into Lakehousel without applying any transformations. The solution must meet the following requirements
Trigger the process when a new file is added.

Provide the highest throughput.
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Which type of item should you use to ingest the data?

A. Event stream

B. Dataflow Gen2

C. Streaming dataset
D. Data pipeline

Answer: A

Explanation:

To ingest large files (500 GB each) from an external data source into Lakehousel with high throughput and to trigger the process when a new file is added, an
Eventstream is the best solution.

An Eventstream in Fabric is designed for handling real-time data streams and can efficiently ingest large files as soon as they are added to an external source. It is
optimized for high throughput and can be configured to trigger upon detecting new files, allowing for fast and continuous ingestion of data with minimal delay.

NEW QUESTION 9

HOTSPOT - (Topic 3)

You have a Fabric workspace that contains a warehouse named Warehousel. Warehouse! contains a table named Customer. Customer contains the following
data.

CustomerliD | FirstName | LastName Phone CreditCard

[ s555-123-
1 John Doe ssey | 1234567812345670

) Jaita Smith 0 '695;_;’ 8765432187654320

3 Michael | Johnson 555':::; 1234987654321230

4 Emily Davis o ;"32323 4321123456789870

S David Brown 555-:::; 5678123498761230

You have an internal Microsoft Entra user named Userl that has an email address of userl@contoso.com.

You need to provide Userl with access to the Customer table. The solution must prevent Userl from accessing the CreditCard column.
How should you complete the statement? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.

Answer Area
GRANT SELECT =
| ALTER
EXECUTE
| READ :
SELECT
VIEW
Customers(CustomerID, FirstName, LastName, Phone)
T0 ([use_n@cpntoso.com] I
User1
[User1]
[user1@contoso.com]
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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Answer Area

GRANT SELECT v
ALTER
EXECUTE
| READ

SELECT

VIEW

Customers(CustomerlD, FirstName, LastName, Phone)

10 | [user1@contoso.com] b l
Userl

[User1]
[user1@contoso.com]

e — —

NEW QUESTION 10

- (Topic 3)

You have a Fabric workspace. You have semi-structured data.

You need to read the data by using T-SQL, KQL, and Apache Spark. The data will only be written by using Spark.
What should you use to store the data?

A. a lakehouse
B. an eventhouse
C. adatamart

D. a warehouse

Answer: A

Explanation:

A lakehouse is the best option for storing semi-structured data when you need to read it using T-SQL, KQL, and Apache Spark. A lakehouse combines the
flexibility of a data lake (which can handle semi-structured and unstructured data) with the performance features of a data warehouse. It allows data to be written
using Apache Spark and can be queried using different technologies such as T-SQL (for SQL-based querying), KQL (Kusto Query Language for querying), and
Apache Spark (for distributed processing). This solution is ideal when dealing with semi-structured data and requiring a versatile querying approach.

NEW QUESTION 10

- (Topic 3)

You are implementing a medallion architecture in a Fabric lakehouse.

You plan to create a dimension table that will contain the following columns:
*ID

» CustomerCode

» CustomerName

» CustomerAddress

» CustomerLocation

* ValidFrom

* ValidTo

You need to ensure that the table supports the analysis of historical sales data by customer location at the time of each sale Which type of slowly changing
dimension (SCD) should you use?

A. Type 2
B. Type O
C.Type 1l
D. Type 3

Answer: A

NEW QUESTION 11

HOTSPOT - (Topic 3)

You have a Fabric workspace that contains two lakehouses named Lakehousel and Lakehouse2. Lakehousel contains staging data in a Delta table named
Orderlines. Lakehouse?2 contains a Type 2 slowly changing dimension (SCD) dimension table named Dim_Customer.

You need to build a query that will combine data from Orderlines and Dim_Customer to create a new fact table named Fact_Orders. The new table must meet the
following requirements:

Enable the analysis of customer orders based on historical attributes. Enable the analysis of customer orders based on the current attributes.

How should you complete the statement? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy DP-700 dumps
@ 2passeasy G g

https://www.2passeasy.com/dumps/DP-700/ (98 New Questions)

Answer Areg

SELECT
orderLineln arder line id
JLOrderDaote arder_date
pFoCushnmer ey
pCocustnmere id
yRUantity orcer_quantity
suniterice unit_prics
, [ exHate tax_rate
- O
Lakehpousel . orderlines o
IHHER JOTH
LakehouseZ.dim_customer ¢

Ol o.customerid c.customer_id

AND "
il =1
ousrderCoate +~ cvalid o datetime
o CrderCate = - walo_fror _catativa -

AN -
ciz_z.rrent -

vl el ale < calicl o ddlelinz
ourderCoate <= Cwsl e e catatic 2

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Answer Area

SELECT
urderLinelo order _line id
LrderDote order_date
gL customer kpy
y € cCustnacr id
yQuantity orcer_quantity
yunitprice unit_price
, | @xHate tax rate
RO~
Lakehousel.orderlines o
INNER JOIN
Lakehouse2.dim customer (
ON o.customerid - c.customer 2d

AND -
vae_aenl =1
— oCrderCate wovalid ¢ datetime. .
| oCrderCate = - Lvel o_fre v _catetiv 2 - |

o o — — — - —_— — e—a — —_— — -l
AMD v
cis_sorrent =
[“:L{ﬂ-hgihﬁ:4¢T_v§ﬁa_::5£ﬁlﬁﬁﬁa-_'|
To.CrderCate <= 2vil e Trex catatir 2

NEW QUESTION 14

- (Topic 3)

You have an Azure SQL database named DB1.

In a Fabric workspace, you deploy an eventstream named EventStreamDBI to stream record changes from DB1 into a lakehouse.
You discover that events are NOT being propagated to EventStreamDBI.

You need to ensure that the events are propagated to EventStreamDBI. What should you do?

A. Create a read-only replica of DB1.

B. Create an Azure Stream Analytics job.

C. Enable Extended Events for DB1.

D. Enable change data capture (CDC) for DB1.

Answer: D

NEW QUESTION 18

- (Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have a KQL database that contains two tables named Stream and Reference. Stream contains streaming data in the following format.
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Column name Data type
Timestamp Datetime

Geolocation Dvnamic

Temperature Decimal
Deviceld Int

Reference contains reference data in the following format.

Column name Data

Deviceld Int
DeviceName String

Both tables contain millions of rows.
You have the following KQL queryset.

@1 Stream

02 | extend lat = todecimal(GeoLocation.Latitude), long = todecimal(GeoLocation.Longitude)
@3 | join kind=inner Reference on Deviceld

04 | project Timestamp, lat, long, Temperature, DeviceName

05 | filter Temperature >= 10

06 | render scatterchart with (kind = map)

You need to reduce how long it takes to run the KQL queryset. Solution: You change the join type to kind=outer.
Does this meet the goal?

A. Yes
B. No

Answer: B

Explanation:
An outer join will include unmatched rows from both tables, increasing the dataset size and processing time. It does not improve query performance.

NEW QUESTION 22

DRAG DROP - (Topic 3)

You are implementing the following data entities in a Fabric environment:

Entityl: Available in a lakehouse and contains data that will be used as a core organization entity

Entity2: Available in a semantic model and contains data that meets organizational standards

Entity3: Available in a Microsoft Power Bl report and contains data that is ready for sharing and reuse

Entity4: Available in a Power Bl dashboard and contains approved data for executive-level decision making

Your company requires that specific governance processes be implemented for the data. You need to apply endorsement badges to the entities based on each
entity??s use case.

Which badge should you apply to each entity? To answer, drag the appropriate badges the correct entities. Each badge may be used once, more than once, or not
at all. You may need to drag the split bar between panes or scroll to view content.

NOTE: Each correct selection is worth one point.
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Badges
! Certified

Do

DEE Master data

%: Promoted

Dl'll
++ Cannot be endorsed

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Badges

% Certified

{ i: Master data

i Promoted

NEW QUESTION 26
- (Topic 3)

You have a Fabric workspace that contains a data pipeline named Pipeline! as shown in the exhibit.

Home Activities Run View
B & W Valdate [» Run [E] Schedule Trigger (preview o))
W Stored procedure Copy data ©
v
= Execute Q - _ -
== procedure1 E Copy_kdi
Farameters Vanabhes Settings Qutput
Pipeline run 1D: 77c397a1-ba17-48c2-9242-4b25%ecdbid
Showng 1 - 2 items
Activity name T4 Activity status  T§ Run start Ty
@ succeedes 8/8/2024, 236:27 PM
Execute procedure] @ inactive 8 D24

Answer Area
} Entity1: [°
Entity2: [°
Entity3: P
Entity4: [°
Answer Area
Entity1: DEE Master data
Entity2: ]Ti” Certified ) }
Entity3:
Entity4: %”EE Certified i §

What will occur the next time Pipelinel tuns?

A. Both activities will run simultaneously.

B. Both activities will be skipped.

C. Execute procedurel will run and Copy_kdi will be skipped.

D. Copy.kdi will run and Execute procedurel will be skipped.

E. Execute procedurel will run first, and then Copy_kdi will run.
F. Copy.kdi will run first, and then Execute procedurel will run.

Answer: A
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NEW QUESTION 28

- (Topic 3)

You have a Fabric workspace that contains an eventstream named EventStreaml. EventStreaml outputs events to a table named Tablel in a lakehouse. The
streaming data is souiced from motorway sensors and represents the speed of cars.

You need to add a transformation to EventStream1 to average the car speeds. The speeds must be grouped by non-overlapping and contiguous time intervals of
one minute. Each event must belong to exactly one window.

Which windowing function should you use?

A. sliding

B. hopping
C. tumbling
D. session

Answer: C

NEW QUESTION 32

HOTSPOT - (Topic 3)

You have a Fabric workspace that contains a lakehouse named Lakehousel. Lakehousel contains a table named Status_Target that has the following columns:
* Key

* Status

* LastModified

The data source contains a table named Status.Source that has the same columns as Status_Target. Status.Source is used to populate Status_Target. In a
notebook name Notebook!, you load Status_Source to a DataFrame named sourceDF and Status_Target to a DataFrame named targetDF. You need to
implement an incremental loading pattern by using Notebook-!. The solution must meet the following requirements:

« For all the matching records that have the same value of key, update the value of LastModified in Status_Target to the value of LastModified in Status_Source.
« Insert all the records that exist in Status_Source that do NOT exist in Status_Target.

« Set the value of Status in Status_Target to inactive for all the records that were last modified more than seven days ago and that do NOT exist in Status.Source.
How should you complete the statement? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.

Answer Area

(targetDF
.merge(sourceDF, "sourceDF.Key" = "targetDF.Key")
| .whenMatchedUpdate( v Ji
whenMatchedinsert(

whenMatchedUpdate(

) -whenNotMatchedBySourcelnsert(
whenNotMatchedBySourceUpdate(
whenNotMatchedinsert(
whenNotMatchedUpdate(

)

| .whenNotMatchedInsert( W
whenMatchedInsert(

whenMatchedUpdate(
whenNotMatchedBySourcelnsert(
whenNotMatchedBySourceUpdate(

5 i

whenNotMatchedUpdate(

}

)

I_whenNDEMatchedBySp_urceUpdate{ v l
whenMatchedIinsert(
whenMatchedUpdate(
whenNotMatchedBySourcelnsert(
whenNotMatchedBySourceUpdate(
whenNotMatchedInsert(
whenNotMatchedUpdate(

‘ent_date() - INTERVAL '7' DAY)",
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Answer Area

(targetDF
.merge(sourceDF, “sourceDF.Key" = "targetDF.Key")
| .whenMatchedUpdate( v}
whenMatchedInsert(

whenMatchedUpdate(

)| whenNotMatchedBySourcelnsert(
whenNotMatchedBySourceUpdate(
whenNotMatchedIinsert(
.whenNotMatchedUpdate(

)

o)

| .whenNotMatchedInsert(
whenMatchedInsert(
whenMatchedUpdate(
whenNotMatchedBySourcelnsert(
whenNotMatchedBySourceUpdate(
Y S —

“whenNotMatchedUpdate( —

—_

}

| .whenNotMatchedBySourceUpdate( v |
whenMatchedInsert(
whenMatchedUpdate(
whenNotMatchedBySourcelnsert(
whenNotMatchedBySourceUpdate(

‘ent_date() - INTERVAL "7 DAY)",

{ .whenNotMatchedUpdate(

NEW QUESTION 36

- (Topic 3)

You have a Fabric workspace named Workspacel that contains a warehouse named DW1 and a data pipeline named Pipelinel.
You plan to add a user named User3 to Workspacel.

You need to ensure that User3 can perform the following actions: View all the items in Workspacel.

Update the tables in DW1.

The solution must follow the principle of least privilege.

You already assigned the appropriate object-level permissions to DW1. Which workspace role should you assign to User3?

A. Admin

B. Member

C. Viewer

D. Contributor

Answer: D

Explanation:

To ensure User3 can view all items in Workspacel and update the tables in DW1, the most appropriate workspace role to assign is the Contributor role. This role
allows User3 to: View all items in Workspacel: The Contributor role provides the ability to view all objects within the workspace, such as data pipelines,
warehouses, and other resources.

Update the tables in DW1: The Contributor role allows User3 to modify or update resources within the workspace, including the tables in DW1, assuming that
appropriate object-level permissions are set for the warehouse.

This role adheres to the principle of least privilege, as it provides the necessary permissions without granting broader administrative rights.
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NEW QUESTION 40

- (Topic 3)

You have a Fabric workspace that contains a warehouse named Warehousel.

You have an on-premises Microsoft SQL Server database named Databasel that is accessed by using an on-premises data gateway.
You need to copy data from Databasel to Warehousel. Which item should you use?

A. a Dataflow Gen1l dataflow
B. a data pipeline

C. a KQL queryset

D. a notebook

Answer: B

Explanation:

To copy data from an on-premises Microsoft SQL Server database (Databasel) to a warehouse (Warehousel) in Microsoft Fabric, the best option is to use a data
pipeline. A data pipeline in Fabric allows for the orchestration of data movement, from source to destination, using connectors, transformations, and scheduled
workflows. Since the data is being transferred from an on-premises database and requires the use of a data gateway, a data pipeline provides the appropriate
framework to facilitate this data movement efficiently and reliably.

NEW QUESTION 42

- (Topic 3)

You have a Fabric workspace that contains a takehouse and a semantic model named Modell.

You use a notebook named Notebook1 to ingest and transform data from an external data source.

You need to execute Notebookl as part of a data pipeline named Pipelinel. The process must meet the following requirements:

* Run daily at 07:00 AM UTC.

« Attempt to retry Notebook1 twice if the notebook fails.

« After Notebookl executes successfully, refresh Modell.

Which three actions should you perform? Each correct answer presents part of the solution. NOTE: Each correct selection is worth one point.

A. Set the Retry setting of the Notebook activity to 2.

B. Place the Semantic model refresh activity after the Notebook activity and link the activities by using an On completion condition.
C. Place the Semantic model refresh activity after the Notebook activity and link the activities by using the On success condition.
D. From the Schedule settings of Notebookl, set the time zone to UTC.

E. From the Schedule settings of Pipelinel, set the time zone to UTC.

F. Set the Retry setting of the Semantic model refresh activity to 2.

Answer: ACE

NEW QUESTION 45
HOTSPOT - (Topic 3)
You need to recommend a Fabric streaming solution that will use the sources shown in the following table.

Name | Message size | Description

Contains semi-structured data
Sourcel | 10 MB that has a bigint column in the
messages

Contains structured data that has
19 columns

Contains unstructured data that
has Images In the messages

Source’Z 25 MB

Source3d | 5 MB

The solution must minimize development effort.
What should you include in the recommendation for each source? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.
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Answer Area

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Answer Area

NEW QUESTION 49

- (Topic 3)

You have five Fabric workspaces.

You are monitoring the execution of items by using Monitoring hub.

Sourcel: A streaminqg dataflow b
Apache Spark Structured Streaming
IAn eventstream
' A data pipeline

An eventstream o

Source2: A data pipeline )
‘Apache Spark Structured Streaming
An eventstream

A data pipeline
A streaming dataflow

Source3: An eventstream b
| Apache Spark Structured Streaming
A data pipeline

| A streaming dataflow

Sourcel: A streaminq dataflow e
Apache Spark Structured Streaming
|An eventstream
A data pipeline

An eventstream s

Sourced: A data pipeline |
Apache Spark Structured Streaming
An eventstream
W A data pipeline
TAZt®aMing dataflow

Source3: An eventstream g

Apache Spark Structured Streamin

‘A data pipeline
| A streaming dataflow

You need to identify in which workspace a specific item runs. Which column should you view in Monitoring hub?

A. Start time

B. Capacity

C. Activity name
D. Submitter

E. Item type

F. Job type

G. Location
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Answer: G

Explanation:

To identify in which workspace a specific item runs in Monitoring hub, you should view the Location column. This column indicates the workspace where the item is
executed. Since you have multiple workspaces and need to track the execution of items across them, the Location column will show you the exact workspace
associated with each item or job execution.

NEW QUESTION 51

DRAG DROP - (Topic 3)

You have two Fabric notebooks named Load_Salesperson and Load_Orders that read data from Parquet files in a lakehouse. Load_Salesperson writes to a Delta
table named dim_salesperson. Load.Orders writes to a Delta table named fact_orders and is dependent on the successful execution of Load_Salesperson.

You need to implement a pattern to dynamically execute Load_Salesperson and Load_Orders in the appropriate order by using a notebook.

How should you complete the code? To answer, drag the appropriate values the correct targets. Each value may be used once, more than once, or not at all. You
may need to drag the split bar between panes or scroll to view content.

NOTE: Each correct selection is worth one point.

Values Answer Area
i ' l.uﬂ'ul_ JUAC:FFCI ILFiE ¥
:: activities "path”: "Load salesperson®,
- . "timeoutPerCellInSeconds™: 300,
st broadcast

dependencies

i execute | “name”: “Load_Orders”,

= : “path®™: "Load_Orders”,
1 notebooks |

*timeoutPerCellInSeconds™: 600,

3 runMultiple | b o =0 N r
| : ["Load_Salesperson”]
|
¥
1,
"timeoutInSeconds™: 43260
1
+
mssparkutils.notebook. (DAG)
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Values Answer Area
LR = DL - LUUU_JHAE J‘.f'El =L 0] »
g Gt el
‘l:: activities II "path": "Load Salesperson”,
el "timeoutPerCellInSeconds™: 300,
|‘: broadcast |
e T TR i b
| 2z dependencies |
R e e I} {
-[=__=_—_~_‘.—.~_=__‘=_—_-~_=~_,,t
| 22 execute | "name”: "Load Orders",

f— e e e e e e

i "path": “"Load_orders”,
Ji: notebooks
————— ——

——— = = = = = "timeoutPerCellInSeconds”: 686,

["Load Salesperson”]

“timeoutInseconds™: 43200

1
!

mssparkutils.notebook. = runMultiple (DAG)

NEW QUESTION 54

- (Topic 3)

You are developing a data pipeline named Pipelinel.

You need to add a Copy data activity that will copy data from a Snowflake data source to a Fabric warehouse. Which option from the Settings tab of the Copy data
activity must you configure?

A. Enable logging
B. Fault tolerance
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C. Enable staging
D. Degree of copy parallelism

Answer: C

NEW QUESTION 59

- (Topic 3)

You have a Fabric workspace that contains an eventstream named EventStreaml. EventStreaml outputs events to a table in a lakehouse.
You need to remove files that are older than seven days and are no longer in use. Which command should you run?

A. VACUUM
B. COMPUTE
C. OPTIMIZE
D. CLONE

Answer: A
Explanation:
VACUUM is used to clean up storage by removing files no longer in use by a Delta table. It removes old and unreferenced files from Delta tables. For example, to

remove files older than 7 days:
VACUUM delta. /path_to_table’ RETAIN 7 HOURS;

NEW QUESTION 60

- (Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have a KQL database that contains two tables named Stream and Reference. Stream contains streaming data in the following format.

Column name Data type
Timestamp Datetime
Geolocation Dynamic

Temperature Decimal
Deviceld Int

Reference contains reference data in the following format.

Column name Data
Deviceld Int

DeviceName String

Both tables contain millions of rows. You have the following KQL queryset.

01 Stream

02 | extend lat = todecimal(GeoLocation.Latitude), long = todecimal(GeoLocation.Longitude)
@3 | join kind=inner Reference on Deviceld

04 | project Timestamp, lat, long, Temperature, DeviceName

@5 | filter Temperature >= 10

06 | render scatterchart with (kind = map)

You need to reduce how long it takes to run the KQL queryset. Solution: You change project to extend.
Does this meet the goal?

A. Yes
B. No

Answer: B
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Explanation:
Using extend retains all columns in the table, potentially increasing the size of the output unnecessarily. project is more efficient because it selects only the
required columns.

NEW QUESTION 61

- (Topic 3)

You have a Fabric capacity that contains a workspace named Workspacel. Workspacel contains a lakehouse named Lakehousel, a data pipeline, a notebook,
and several Microsoft Power Bl reports.

A user named Userl wants to use SQL to analyze the data in Lakehousel. You need to configure access for Userl. The solution must meet the following
requirements:

Provide Userl with read access to the table data in Lakehousel.

Prevent Userl from using Apache Spark to query the underlying files in Lakehousel. Prevent Userl from accessing other items in Workspacel.

What should you do?

A. Share Lakehousel with Userl directly and select Read all SQL endpoint data.

B. Assign Userl the Viewer role for Workspacel. Share Lakehousel with Userl and select Read all SQL endpoint data.
C. Share Lakehousel with Userl directly and select Build reports on the default semantic model.

D. Assign Userl the Member role for Workspacel. Share Lakehousel with Userl andselect Read all SQL endpoint data.

Answer: B

Explanation:

To meet the specified requirements for Userl, the solution must ensure:

? Read access to the table data in Lakehousel: Userl needs permission to access the data within Lakehousel. By sharing Lakehousel with Userl and selecting
the Read all SQL endpoint data option, Userl will be able to query the data via SQL endpoints.

? Prevent Apache Spark usage: By sharing the lakehouse directly and selecting the SQL endpoint data option, you specifically enable SQL-based access to the
data, preventing Userl from using Apache Spark to query the data.

? Prevent access to other items in Workspacel: Assigning Userl the Viewer role for Workspacel ensures that Userl can only view the shared items (in this case,
Lakehousel), without accessing other resources such as notebooks, pipelines, or Power Bl reports within Workspacel.

This approach provides the appropriate level of access while restricting Userl to only the required resources and preventing access to other workspace assets.

NEW QUESTION 64

DRAG DROP - (Topic 3)

You have a Fabric workspace that contains a warehouse named Warehousel.

In Warehousel, you create a table named DimCustomer by running the following statement.

CREATE TABLE dbo.DimCustomer (
CustomerKey VARCHAR(255) NOT NULL,

Name VARCHAR(255) NOT NULL,
Email VARCHAR(255) NOT NULL

)5

You need to set the Customerkey column as a primary key of the DimCustomer table. Which three code segments should you run in sequence? To answer, move
the appropriate
code segments from the list of code segments to the answer area and arrange them in the correct order.

Code Segments Answer Area
0 0

i DROP CONSTRAINT PK_DimCustomer

0
.« ADD CONSTRAINT PK DimCustomer PRIMARY KEY NONCLUSTERED

" (Customerkey) 0
0

:: NOT ENFORCED

:* ALTER TABLE dbo.DimCustomer 0
0

.« ADD CONSTRAINT PK_DimCustomer PRIMARY KEY CLUSTERED

e (CustomerkKey)

0II

= ENFORCED

A. Mastered

B. Not Mastered
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Answer: A

Explanation:

Code Segments Answer Area

G, P |

:: DROP CONSTRAINT PK_DimCustomer

.. ADD CONSTRAINT PK_DimCustomer PRIMARY KEY NONCLUSTERED k_______________________________________________j

| (CustomerKey)
R R R R | o ADD CHSTRAINT: P DiRcustasar PRINARY. KEY. CLUSTERED
% NOT ENFORCED " (Customerkey)
[ = = = = e e e e e e e e e e e e e e e = = =
ALTER TABLE dbo.DimCustomer F#MMALM“_]
________________________ % ENFORCED
s ADD CONSTRAINT PK_DimCustomer PRIMARY KEY CLUSTERED I ‘
CEusErimEedeyy 020909090929 A I T .
i ENFORCED :
NEW QUESTION 67
HOTSPOT - (Topic 3)
You are building a data loading pattern for Fabric notebook workloads. You have the following code segment:
def loading pattern_sample(df_source):
try:
deltaTable = DeltaTable.forName(spark, target_table)
except Exception:
try:
df _source.write.format('delta’).mode(’'overwrite').saveAsTable(f"{target table}")
except Exception as e:
print(f':Load for table {target_table} failed with error: {str(e)}’)
raise
return
try:
change_detection_columns = [col for col in df_source.columns if col not in candidate_key]
match_condition = " AND '.join([f'target.{col} = source.{col}' for col in candidate_key])
update_condition = ' OR '.join([f 'target.{col} != source.{col}’' for col in change_detection_columns])

update_expr = {col: f'source.{col}' for col in df_source.columns}

merge operation = deltaTable.alias('target’).merge(
source=df_source.alias('source'),
condition=match_condition

) .whenMatchedUpdate(
condition=update_condition,
set=update_expr

) .whenNotMatchedInsertAll()

merge_operation.execute()
except Exception as e:

print(f'Insert operation for table {target table} failed with error: {str(e)}’)

return

For each of the following statements, select Yes if the statement is true. Otherwise, select No.
NOTE: Each correct selection is worth one point.
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Answer Area

Statements Yes No
The target table will always be overwritten. O O

The merge operation will always run. O O

The loading pattern supports both full and incremental loading O O

requirements.

A. Mastered

B. Not Mastered

Answer: A

Explanation:

Answer Area

Statements Yes No

The target table will always be overwritten. O '_@'
The merge operation will always run. O EI
The loading pattern supports both full and incremental loading or 10

requirements. mia

NEW QUESTION 68

- (Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some

guestion sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have a Fabric eventstream that loads data into a table named Bike_Location in a KQL database. The table contains the following columns:

BikepointID Street Neighbourhood No_Bikes No_Empty Docks Timestamp

You need to apply transformation and filter logic to prepare the data for consumption. The solution must return data for a neighbourhood named Sands End when
No_Bikes is at least 15. The results must be ordered by No_Bikes in ascending order.

Solution: You use the following code segment:

bike location

| filter Neighbourhood == "Sands End" and No_Bikes >= 15

| order by No Bikes

| project BikepointID, Street, Neighbourhood, No Bikes, No_Empty Docks, Timestamp

Does this meet the goal?

A. Yes
B. no

Answer: B

Explanation:
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This code does not meet the goal because it uses order by, which is not valid in KQL. The correct term in KQL is sort by.
Correct code should look like:

bike location

| filter Neighbourhood == “Sands End" and No_Bikes >= 15

| sort by No Bikes asc

| project BikepointID, Street, Neighbourhood, No Bikes, No Empty Docks, Timestamp

NEW QUESTION 72

HOTSPOT - (Topic 3)

You have a Fabric workspace that contains an eventstream named EventStreaml. You discover that an EventStream1 transformation fails.
You need to find the following error information: The error details, including the occurrence time The total number of errors

What should you use? To answer, select the appropriate options in the answer area. NOTE: Each correct selection is worth one point.

Answer Area

To find the error details: v
Data insights

Data preview

Details

Runtime logs

To find the total number of errors: v
Data insights

Data preview

Details

Runtime logs

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Answer Area
To find the error details: v
Data insights
Data preview
{Details _ _ _ _
'IRuntime logs :
To find the total number of errors: »

Data insights
Data preview
Details |

Runtime logs

NEW QUESTION 75

HOTSPOT - (Topic 3)

You have a Fabric workspace named Workspacel DEV that contains the following items: 10 reports

Four notebooks Three lakehouses Two data pipelines

Two Dataflow Genl dataflows Three Dataflow Gen2 dataflows

Five semantic models that each has a scheduled refresh policy

You create a deployment pipeline named Pipelinel to move items from Workspacel DEV to a new workspace named Workspacel TEST.
You deploy all the items from Workspacel DEV to Workspacel TEST.

For each of the following statements, select Yes if the statement is true. Otherwise, select No.

NOTE: Each correct selection is worth one point.

Answer Area
Statements Yes No
Data from the semantic models will be deployed to the target stage. |O O

The Dataflow Gen1 dataflows will be deployed to the target stage.

O
O

The scheduled refresh policies will be deployed to the target stage. O O

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Answer Area

Statements Yes No
Data from the semantic models will be deployed to the target stage. |O Q
The Dataflow Gen1 dataflows will be deployed to the target stage. 1O O
The scheduled refresh policies will be deployed to the target stage. O [ O |t

NEW QUESTION 77

- (Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have a KQL database that contains two tables named Stream and Reference. Stream contains streaming data in the following format.

Timestamp Datetime

Geolocation Dynamic

Temperature Decimal
Deviceld Int

Reference contains reference data in the following format.

Column name Data

Deviceld Int
DeviceName String

Both tables contain millions of rows. You have the following KQL queryset.
You need to reduce how long it takes to run the KQL queryset. Solution: You add the make_list() function to the output columns. Does this meet the goal?

@1 Stream

@2 | extend lat = todecimal(GeoLocation.Latitude), long = todecimal(GeoLocation.Longitude)
@3 | join kind=inner Reference on Deviceld

@4 | project Timestamp, lat, long, Temperature, DeviceName

@5 | filter Temperature >= 10

06 | render scatterchart with (kind = map)

A. Yes
B. No

Answer: B

Explanation:
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Adding an aggregation like make_list() would require additional processing and memory, which could make the query slower.

NEW QUESTION 80

- (Topic 3)

You have a Fabric workspace that contains a lakehouse named Lakehousel. Lakehousel contains a Delta table named Tablel.

You analyze Tablel and discover that Tablel contains 2,000 Parquet files of 1 MB each. You need to minimize how long it takes to query Tablel.
What should you do?

A. Disable V-Order and run the OPTIMIZE command.
B. Disable V-Order and run the VACUUM command.
C. Run the OPTIMIZE and VACUUM commands.

Answer: C

Explanation:

Problem Overview:

Tablel has 2,000 small Parquet files (1 MB each).

Query performance suffers when the table contains numerous small files because the query engine must process each file individually, leading to significant
overhead.

Solution:

To improve performance, file compaction is necessary to reduce the number of small files and create larger, optimized files.

Commands and Their Roles: OPTIMIZE Command:

- Compacts small Parquet files into larger files to improve query performance.

- It supports optional features like V-Order, which organizes data for efficient scanning. VACUUM Command:

- Removes old, unreferenced data files and metadata from the Delta table.

- Running VACUUM after OPTIMIZE ensures unnecessary files are cleaned up, reducing storage overhead and improving performance.

NEW QUESTION 82

HOTSPOT - (Topic 3)

You have a Fabric warehouse named DW1 that contains four staging tables named ProductCategory, ProductSubcategory, Product, and SalesOrder.
ProductCategory, ProductSubcategory, and Product are used often in analytical queries.

You need to implement a star schema for DW1. The solution must minimize development effort.

Which design approach should you use? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.

Answer Area
ProductCategory, ProductSubcategory and Product must be: ' Denormalized into a single product dimension table 2 l
Added to the model as individual tables
Denormalized by being added to the SalesOrder table
Denormalized into a single product dimension table
The joining key must be: the unique system generated identifier ot
The product name and the date
the unique system generated identifier
The product category name
A. Mastered

B. Not Mastered
Answer: A

Explanation:
Answer Area

ProductCategory, ProductSubcategory and Product must be l Denormalized into a single product dimension table = ]
Added to the model as individual tables
Denormalized by being added to the SalesOrder table
| Denormalized into a single product dimension table

The joining key must be: ' the unique system generated identifier o
The product name and the date

he upique system generated identifier
The product category name

NEW QUESTION 86

- (Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have a Fabric eventstream that loads data into a table named Bike_Location in a KQL database. The table contains the following columns:

BikepointID Street Neighbourhood No_Bikes No_Empty_Docks

Timestamp

You need to apply transformation and filter logic to prepare the data for consumption. The solution must return data for a neighbourhood named Sands End when
No_Bikes is at least 15. The results must be ordered by No_Bikes in ascending order.
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Solution: You use the following code segment:

SELECT BikepointID, Street, Neighbourhood, No_Bikes, No Empty Docks, Timestamp
FROM bike_location

WHERE neighbourhood = 'Sands End'

AND no_bikes >= 15

ORDER BY no_bikes

Does this meet the goal?

A. Yes
B. no

Answer: B

Explanation:

This code does not meet the goal because this is an SQL-like query and cannot be executed in KQL, which is required for the database.
Correct code should look like:

bike location

| filter Neighbourhood == “Sands End" and No Bikes >= 15

| sort by No Bikes asc

| project BikepointID, Street, Neighbourhood, No Bikes, No Empty Docks, Timestamp

NEW QUESTION 91

- (Topic 3)

You have a Fabric workspace named Workspacel.

You plan to configure Git integration for Workspacel by using an Azure DevOps Git repository. An Azure DevOps admin creates the required artifacts to support
the integration of Workspacel Which details do you require to perform the integration?

A. the project, Git repository, branch, and Git folder

B. the organization, projec

C. Git repository, and branch

D. the Git repository URL and the Git folder

E. the personal access token (PAT) for Git authentication and the Git repository URL

Answer: B

NEW QUESTION 92

- (Topic 3)

You have a Fabric workspace named Workspacel that contains a data pipeline named Pipelinel and a lakehouse named Lakehousel.
You have a deployment pipeline named deployPipelinel that deploys Workspacel to Workspace?2.

You restructure Workspacel by adding a folder named Folderl and moving Pipelinel to Folderl.

You use deployPipelinel to deploy Workspacel to Workspace2. What occurs to Workspace2?

A. Folderl is created, Pipelinel moves to Folderl, and Lakehousel is deployed.
B. Only Pipelinel and Lakehousel are deployed.

C. Folderl is created, and Pipelinel and Lakehousel move to Folderl.

D. Only Folderl is created and Pipelinel moves to Folderl.

Answer: A

Explanation:

When you restructure Workspacel by adding a new folder (Folderl) and moving Pipelinel into it, deployPipelinel will deploy the entire structure of Workspacel to
Workspace2, preserving the changes made in Workspacel. This includes:

Folderl will be created in Workspace2, mirroring the structure in Workspacel.

Pipelinel will be moved into Folderl in Workspace2, maintaining the same folder structure. Lakehousel will be deployed to Workspace?2 as it exists in
Workspacel.

NEW QUESTION 93
HOTSPOT - (Topic 3)
You have a table in a Fabric lakehouse that contains the following data.
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SalesOrderNumber | OrderDate | CustomerName Email
S049172 2021-01- T e brian23@adventure-
01 works.com
$049173 2021-01- o e linda19@adventure-
01 works.com
5049174 2021-01- T e gina4d@adventure-
01 works.com
5049178 2021-01- Beth Ruiz beth4@adventure-
01 works.com
1-01- 1 el ‘e
S049179 EPENN Evan Ward evanl13@adventure
01 works.com

You have a notebook that contains the following code segment.

@1 df = df.withColumn{"CustomerName”, when((col{"Customerame”).isNull() | (col("CustomerName”)=="")),1it{"Unknown")).otherwise(col("Customername")))
@2 df = df.withColumn({"Username”,split{col(“Email®), "@").getItem(1))

@3 df = df.dropbuplicates(["OrderDate”]).select{col("OrderDate"), year("OrderDate”).alias("vear"), ("Customerdame"), (“Username"))

ea display(df.head(1@))

For each of the following statements, select Yes if the statement is true. Otherwise, select No.
NOTE: Each correct selection is worth one point.

Answer Area
Statements Yes No
Line 01 will replace all the null and empty values in the CustomerName column with the O C
Unknown value.
Line 02 will extract the value before the @ character and generate a new column named O )
Username.
Line 03 will extract the year value from the OrderDate column and keep only the first O O
occurrence for each year.
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Answer Area
Statements Yes No
_f"v 1 F
Line 01 will replace all the null and empty values in the CustomerName column with the '_.-] )
Unknown value.
: . pet o
Line 02 will extract the value before the @ character and generate a new column named 9 10 i
Username.
5 ¥ |
Line 03 will extract the year value from the OrderDate column and keep only the first o 10O

occurrence for each year.

NEW QUESTION 94

- (Topic 3)

You have a Fabric deployment pipeline that uses three workspaces named Dev, Test, and Prod.

You need to deploy an eventhouse as part of the deployment process. What should you use to add the eventhouse to the deployment process?

A. GitHub Actions
B. a deployment pipeline
C. an Azure DevOps pipeline

Answer: B
Explanation:
A deployment pipeline in Fabric is designed to automate the process of deploying assets (such as reports, datasets, eventhouses, and other objects) between

environments like Dev, Test, and Prod. Since you need to deploy an eventhouse as part of the deployment process, a deployment pipeline is the appropriate tool
to move this asset through the different stages of your environment.
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NEW QUESTION 96
HOTSPOT - (Topic 3)
You are processing streaming data from an external data provider. You have the following code segment.

datatable (Location:string, Company:string, UnitsSold:long)

[

"New York", "Contoso", 300,

“New York"™, "Litware", 1000,
"New York", "Relecloud", 300,
"New York", "Fabrikam", 200,
"Seattle”, "Contoso", 300,
"Seattle”, "Litware”, 100,
"Seattle”, "Fabrikam", 100,

"San Francisco”, "Relecloud”, 500,
"San Francisco”, "Litware", 500,
"Washington DC", "Litware", 300,
"Washington DC", "Contoso"”, 400

sort by Location desc, UnitsSold desc
extend Rank=row rank dense(UnitsSold, prev(Location) != Location)

For each of the following statements, select Yes if the statement is true. Otherwise, select No.
NOTE: Each correct selection is worth one point.

Answer Area

Statements Yes No
Litware from New York will be displayed at the top of the result set. O O
Fabrikam in Seattle will have value = 2 in the Rank column. m O
Litware in San Francisco will have the same value in the Rank column as Litware in New York. |[O O
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Litware from New York will be displayed at the top of the result set — Yes

The data is sorted first by Location in descending order and then by UnitsSold in descending order. Since "New York" is alphabetically the last Location, it will
appear first in the result set. Within "New York", Litware has the highest UnitsSold (1000), so it will be displayed at the top.

Fabrikam in Seattle will have value = 2 in the Rank column — No

The row_rank_dense function assigns dense ranks based on UnitsSold within each location. In "Seattle":

Contoso has UnitsSold = 300 Rank 1 Litware has UnitsSold = 100 Rank 2

Fabrikam also has UnitsSold = 100, so it shares the same rank (2) as Litware.

Litware in San Francisco will have the same value in the Rank column as Litware in New York — No

The rank is calculated separately for each location. In "San Francisco™:

Both Relecloud and Litware have UnitsSold = 500, so they share the same rank (1). In "New York", Litware has the highest UnitsSold = 1000 Rank 1.
Since ranks are calculated independently for each location, Litware in San Francisco does not share the same rank as Litware in New York.

NEW QUESTION 101
- (Topic 3)
You have an Azure Data Lake Storage Gen2 account named storagel and an Amazon S3 bucket named storage2.
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You have the Delta Parquet files shown in the following table.

Name Stored in Size Description
ProductFile | storage1 | 50 MB Contains a list of products and their details
TripsFile storage2 | 2 GB Contains one month's worth of taxi trip data
StoreFile storage2 | 25 MB Contains a list of stores and their addresses

You have a Fabric workspace named Workspacel that has the cache for shortcuts enabled. Workspacel contains a lakehouse named Lakehousel. Lakehousel
has the following shortcuts:

A shortcut to ProductFile aliased as Products A shortcut to StoreFile aliased as Stores

A shortcut to TripsFile aliased as Trips

The data from which shortcuts will be retrieved from the cache?

A. Trips and Stores only

B. Products and Store only
C. Stores only

D. Products only

E. Product

F. Stores, and Trips

Answer: B

Explanation:

When the cache for shortcuts is enabled in Fabric, the data retrieval is governed by the caching behavior, which generally retains data for a specific period after it
was last accessed. The data from the shortcuts will be retrieved from the cache if the data is stored in locations that support caching. Here's a breakdown based
on the data's location: Products: The ProductFile is stored in Azure Data Lake Storage Gen2 (storagel). Since Azure Data Lake is a supported storage system in
Fabric and the file is relatively small (50 MB), this data is most likely cached and can be retrieved from the cache.

Stores: The StoreFile is stored in Amazon S3 (storage?2), and even though it is stored in a different cloud provider, Fabric can cache data from Amazon S3 if
caching is enabled. This data (25 MB) is likely cached and retrievable.

Trips: The TripsFile is stored in Amazon S3 (storage2) and is significantly larger (2 GB) compared to the other files. While Fabric can cache data from Amazon S3,
the larger size of the file (2 GB) may exceed typical cache sizes or retention windows, causing this file to likely be retrieved directly from the source instead of the
cache.

NEW QUESTION 103
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